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QUESTION 1

What happens to all the page elements in a test? 

A. They are grouped by page unless the application under test uses AJAX. 

B. They are grouped by page as a visual aid to enhance readability. 

C. They are assigned dynamically to separate virtual testers at playback time. 

D. They use separate records from a single datapool. 

Correct Answer: B 

 

QUESTION 2

IBM Rational Performance Tester supports WS-Security implementation in which four application servers? (Choose
four.) 

A. IBM WebSphere 5.0 

B. IBM WebSphere 6.1 

C. Microsoft Windows Communication Foundation 3.0 

D. Apache AXIS2 1.51 with Rampart 

E. Oracle Glassfish Server 2.1.1 with Metro 

F. BEA Web Logic Application Server 8.1 

Correct Answer: BCDE 

 

QUESTION 3

Two workstations are installed with the full IBM Rational Performance Tester 8.2 product in addition to a 

server that is installed with the IBM Rational Agent Controller. Stress testing is conducted with all the machines.
Response time breakdown data is collected. Later the tester discovers that the data was in fact not collected. What are
four probable causes? (Choose four.) 

A. The server has not been instrumented. 

B. IBM Rational Performance Tester is running on the other workstation. 

C. The response time breakdown collection has not been enabled. 

D. The firewall between the server and the two servers has not been opened. 

E. IBM Rational Performance Tester 8.2 is not compatible with IBM Rational Agent Controller. 
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F. IBM Rational Agent Controller is not running on the workstation. 

Correct Answer: ACDE 

 

QUESTION 4

What does checking "Show References" in the Test Data view do? 

A. highlight the regular expression being used to capture each reference 

B. jump forward from a response to the correlated request that refers to it 

C. jump back from the correlated request to the response that refers to it 

D. display automatically correlated data values in tabular form 

Correct Answer: D 

 

QUESTION 5

When using custom code, what is a good idea? 

A. change the package name and class name 

B. comment the Java code well 

C. move the package outside of the src directory 

D. use a meaningful class name 

Correct Answer: A 

 

QUESTION 6

What do good candidates for datapool substitution do? 

A. simulate unique user credentials and data entry choices by individual users 

B. simulate random timing and workflow variations by individual users 

C. improve application performance by requesting pages that are already cached 

D. make performance more predictable by using the same data values for every user 

Correct Answer: A 

 

QUESTION 7

Which page element is the primary page request? 
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A. the page element marked in bold text 

B. the first page element 

C. the html page element 

D. the page element with response code 200 

Correct Answer: A 

 

QUESTION 8

When you run your tests, you notice that the curves are noisy. 

How can you correct this and smooth your results? 

A. change the logging level 

B. increase the number of users 

C. reduce the statistical sampling rate 

D. add a synchronization point 

Correct Answer: C 

 

QUESTION 9

Why would a tester want to substitute a datapool candidate? 

A. A new value can be provided for each virtual tester, to ensure more realistic playback. 

B. A new value can be captured for each session, to ensure more realistic recording. 

C. The data correlation will fail if the candidate is not substituted with the value returned by the server. 

D. The datapool will never get filled up with data unless it is connected to the test at playback time. 

Correct Answer: A 
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QUESTION 10

How does IBM Rational Performance Tester collect resource data from traps? 

A. Rstatd 

B. ITCAM 

C. Perfmon 

D. ARM Instrumentation 

Correct Answer: B 
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